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[ERMEMIRE  (5.55m * 18.55m & L CEH)
HEg % 100m24 U #4 8 EL A
S2&ME $2.0 % 50 * 50 140m2 100m * 1.4 = 140
KEY $16 * 400L 30K 3/10m * 100m = 304
INE ®9 * 200L 1507 15%/10m® * 100m = 1504
5 — N =P gk
LS NI S =TT 7 LB Im() HHHmE 5.2m/ 1.3m+ 1 = 5K
5 * 18.55m * 24 = 185.5m
EMBG D10 224. 02kg SR 18.5m / 1.3m + 1 = 15K
15K * 5.55m % 2 = 166.5m
_ {(185.5m + 166.5m) * 0.56kg/m} / (5.55m * 18.55m) * 100m * 1.17 = 224. 02kg
5528 RASLT e 2
EREICIRT OERET 5.,
9 F7oh— D16 * 750 13K it 5477 * A& 1550 = 1545
ga) 1545 F / (5.55m * 18.55m) * 100m? = 734
& g =
G 528 HRERESR 18.2m / 1.3 * (5.2n / 1.3m + 1) = 708
72;}4;@" 350 * 150F8 12718 HERERER 5.2n / 1.3m * (18.2m / 1.3m + 1) = 60f@
N J (7018 + 608) / (5.55m * 18.55m) * 100m = 127f@
[e]
© PeMRE 163 / 360 % 7 * 0.1772 - 0.35 % (0.177 = 0.15) / 2 = 0. 0398m2
¥rE  5.55m * 154 + 18.55m * 54 = 176m
ﬁ"fuj’z';q?"' b350 * h150 5. 97m TEGFEIRAERE 0.01160/177F  (BRTCADIZ & Y i)
0.0115m° * 54 /F * 154 = 0. 86m°
100m224 L A% (0. 0398m2 * 176m — 0.86m") / (5.55m * 18.55m) * 100m® = 5.97m
266
| | , 0.35m * 176m — (0.35m)? * 54 * 154 = 52. 4m?
50 HNILEER 49.1m 100m — (5241 / (5.55m * 18.55m) * 100m) = 49. 1t




